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班級  姓

名 
 

座號  
一、計算題 (每題 25 分) 
1、試求 3 9 5 25(log 5 log 25)(log 27 log 3)+ + 之值。 
答案： 7 
解析：  

3 9 5 25(log 5 log 25)(log 27 log 3)+ +  

3 3 5 5
2 1(log 5 log 5)(3log 3 log 3)
2 2

= + +  

3 5 3 5
7 7(2 log 5)( log 3) 2 log 5log 3 7
2 2

= = × × =  

  

2、 設 5log 3a = ， 3log 5b = 試求
34 2

5
a

b
− +

之值。 

答案：75   
解析：  

5log 3 5 3aa = ⇒ = ； 3log 5 5 3bb = ⇒ = ，即
1

5 3b =
 3 4 2 4 24 2

1 3
3

(5 ) 5 3 55 75
3(5 )

aa
b

b

− + × ×
= = =  

 
3、設 2log 3a = ， 3log 5b = ， 5log 7c = 試以 , ,a b c表示 21log 140。 

答案：
2 ab abc

a abc
+ +
+

  

解析： 
2log 3a = ， 3 2 3 2log 5 log 3 log 5 log 5b ab= ⇒ = ⋅ = ， 

又 5log 7c abc= ⇒ = 2 3 5 2log 3 log 5 log 7 log 7⋅ ⋅ =  

2 2 2 2
21

2 2 2

log 140 2log 2 log 5 log 7 2log 140
log 21 log 3 log 7

ab abc
a abc

+ + + +
= = =

+ +
 

 

4、設 1, 1, 0, 1a a b b> ≠ > ≠ ，且滿足
2

3 ( 1)x y ba b
a

= = ≠ ，試求 ( 3)( 2)x y+ − 之值。  

答案： 6−     

解析： 
2

3 2
3

x xba a b
a

+= ⇒ = ，

3
2

x

b a
+

=
 

2 2
3

3
y

y

b bb a
a b

= ⇒ = ，即
3

2 3 2 32( )
x

y yb a a a
+

− − − −= ⇒ =   

                               3 ( 2) 3 ( 3)( 2) 6
2

x y x y+
× − = − ⇒ + − = −  
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5、設方程式 (log5 )(log8 ) 1x x = 二根為 ,α β，試求αβ之值。 

答案： 1
40    

解析： 
(log 5 )(log8 ) 1 (log log5)(log log8) 1x x x x= ⇒ + + =  
設 logt x= ⇒ 2 (log5 log8) (log 5log8 1) 0t t+ + + − =  

              24 165( )
5 5

t= − − +  

原式二根為 ,α β，即 2 (log5 log8) (log 5log8 1) 0t t+ + + − = 二根 log , logα β  
二根和 1log log (log5 log8) log 40 log 40−α + β = − + = − =  
        1log log 40−⇒ αβ =  

即
1
40

αβ =  


